
No. of Printed Pages : 12 	 CHE-06 

BACHELOR OF SCIENCE (B. Sc.) 

Term-End Examination 

June, 2020 
CHE-06 : ORGANIC REACTION MECHANISM 

Time : 2 Hours 	 Maximum Marks : 50 

Note : Answer any five questions. All questions 

carry equal MOAB. 

1. (a) Choose the stronger base in the following 

pairs and justify your answer : 	 5 

(i) Cyclohexyl amine and aniline 

(ii) Iodide ion and bromide ion.  

(b) List the factors affecting the rate of S N1  

reactions and explain any one factor with 

the help of an example. 	 5 

2. (a) Write the mechanism of the reaction of p-

chlorotoluene with potassium amide in 

liquid ammonia. 5 

P. T. O. 
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(b) What is meant by isotopic labelling ? 

Explain, how does it help in ascertaining 

the mechanism of ester hydrolysis. 5 

3. (a) Explain any two of the following : 	5 

(i) Which of the following is aromatic in 

nature ? Give reason for your answer : 

6 
(ii) (2E, 4E)-hexdiene yields cis-3, 4- 

dimethylcyclobutane in a photo-

induced reaction. 

(iii) Fluorine and iodine do not undergo 

addition reaction with alkenes. 

(b) Taking a suitable example, write the 

mechanism of Norish type II reaction. 	5 

4. (a) Complete any five of the following 

reactions : 	 5 

(i) ( 3  + cH3coo_No2 Ac20  
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PhCOOCH3  + CH3COCH3 

NaOMe  

(iii) RC = CR + H2 

OH 

(iv) 

Poisoned catalyst  

Pd/C BaSO4  

+ KOH + CHC13  -+ 

(v) CH2 = CH2 t 0504  

 

Na2S03  > 
H2O 

 

(vi) 

 

NBS, Cel ts  

  

(vii) CH3  - CH = CH2  + HBr 

(b) Write Saytzeff rule and explain the product 

formed on the reaction of 2-bromobutane 

with alcoholic KOH. 5 

5. (a) Write the mechanism of any two of the 

following name reactions : 	 5 

(i) Cannizzaro reaction 

Curtius rearrangement 

(iii) Wittig reaction 

P. T. 0. 
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(b) Give an example for any five of the 

following : 	 5 

(i) Indigoid dye 

(ii) Azo dye 

Xanthene dye 

(iv) Antidepressant drug 

(v) Antiinflammatory drug (nonsteroidal) 

(vi) Analgesic drug 

6. (a) How will you carry out any one of the 

following conversions ? 	 5 

(i) Aniline to p-nitroaniline 

Acetoacetic ester to ethyl methyl 

ketone 

(b) Explain any two of the following : 	5 

(i) Preparation of trans alkene from an 

alkyne 

(ii) Cleansing action of soaps. 

(iii) Kinetic isotope effect 
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7. (a) Differentiate between any two of the 

following pairs : 	 5 

(i) Addition 	and 	condensation 

polymerisation 

(ii) Fluorescence and phosphorescence 

Chromophores and auxochromes 

(b) Write short note on any one of the 

following : 	 5 

(i) Structure and stability of free radicals 

(ii) Structure and stability of carbenes 

8. (a) F ,lain that methyl group is ortho/para 

directing while trichloromethyl group is 

meta directing towards electrophilic 

substitution reactions in benzene. 5 

(b) What is ozonolysis ? Explain its 

mechanism by taking a suitable example. 

Write the structure of alkene which on 

ozonolysis gives equimolar mixture of 

acetone and butanone. 5 

P. T. 0. 
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a tit f/ 

1. (w) -14-1 tg 	.4 mem AiTIT 	11-44 

aTcr4 zw( atr-wsr fiks •4 -* : 5 

(1) kiwtri    adz irMdti 

airEhro ant tan aim 
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(ra) sw  tem 	srcrifTha avo1/2 	 Th-Re 

1:1-41-0-4I 3c16kul * -gRT 

ocut34fa1RI 	 5 

2. (W) 	ST -4 Nirkitm tan Trig p- 

Cicil a 	Cl 	31flagr 	f -cfrf-afq 

MfuRi 	 5 

(V) Wris-Trri471-  arm 	err afiTcrrr 	? 

‘t.e.t 7F-34-9Eizi 	f-zrrraftt 	ijr-if‘u 

cnk4 -4 -Etw ch*r Ncnit 	 t ? 	5 

3. (T) F-1 4--ircifigcf -4 14 fTh* 	e afrt§ETr 

5 

(1) rim ei 	-11 	.41 -I Alt 	? 

aitIA 39T * tiK cbltur 	∎71 : 

P. T. 0. 
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(ii) (2E, 	4E)- ciiiist§ 	wcbin 	s1R 

11 meg # 1%4-3, 4-37141M 

(i) + CH3 C00-NO2 

 

Ac20  

  

(ii) PhCOOCH3  + CH3COCH3  

NaOMe  



191 

(iii) RC a CR + H2 

OH 

CHE-06 

illaria WOW  
Pd/C BaSO4  

+ KOH + CHC13  (iv) 

(v) CH2 = CH2 + 0804  

(vi) 

Na2 SO3  

H2O 

 

NHS, CC14  

  

(vii) CH3  - CH = CH2  + HBr -> 

(7E) *-4:F * ?I'M? Thi RINK Atc•th I rich 

KOH * TINT 2-914$40-1 t 31511WIT 

44 30414 	 'alP711 al 	5 

5. (T)  	Pfrif at 4 cffit(regrti 

fart il : 	 5 

(i)  ~iriWlt~ 3T 

tit( 	sbtif 

q e 1 di shti 

P. T. O. 
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14-1kirtqcf 14: 	f*--41 411Tta 	3416tur 

5 

(i) 	efs (Act) 
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(1:4) 14-1 ticf 4 4 -14)4( at 	wuit 

(1) 	1 t 

(ii) tut( WI ri4.6-1 rshq 

(iii) 41ra* tilitt-giriql 71:114 

7. (S) 	 4 	en-6 4-1 * '4d 

: 

	 aftr 1:11499 flivictrf 

(ii)  	ett 	 

54 141‘01( Ott 	ttti sr) 44 

(a ) 
	ti 	tad 4 	Par 	ITTPircr 

kwuit .ftitoR : 

W Irma *I.  tiviif 1tfT tv4irticct 

(ii) (*AR m titbit Wall txllfycd 

P. T. O. 
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8. (W) t1+-wm 1W 4-47 	eNtit-V1 

zT TIfro.  too atilfihi 	tar * 

q-41-t mctoiairem tow ter ffiaM torr 

*1 	 5 

(1) attff avaie.-1 	tai ? dneht dcmtuf 

n *R-4 fwirrfen 	atr rt VfwRi 

titwir f-draR3t1* 

airrErei * Nr< .tffralff t‘1919' 

Mara( cigl 	 5 
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